Klasse BVKT1
2. Schulaufgabe aus der Mathematik
am 24.02.2014
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Aufgabe 2




_BVkTt | R.Shulaufgabe am 2%.02.2014%

74 | et = BOE4x«25-4)4y = B (x-2)-4R+2
S (2-48) wandert n unten (55> -0) ; x=2  foF

1.2 ,g ()= folx) = X*-4x+2 =2 &> X'~ kx =0 &> x‘@c:@:‘o_
X =0 Pit auk y-Atkie; p@) =2 > BOR) ; B42)

1.3 éx‘ GBx+Q = -2x41 @Bt Q-¢R)x+1=0
=(2-4R)-%B1 =¢- 168 + 168 48 = 168°-208 +4=0
-@; He (202 {20=4-16. 64) = JLjZot 2); Rt B=d
Fir Bt 12X+ RYxr1=0 = X =%+1=0= (x-1)=0_
X2 A An g @) = -241==1 = ""B*(a’fT‘ ]

1.4.4 ;#i C)(: Qgt +0x +108) t (x~6)= & (x*. 3x —18)
e ._—_—"_._“""‘77.77‘_. @_LL 6 !‘ x+:y

—(—'a X+ 18x)

’;'_”__ T Frex+108 60 =z (x el (x+3)
HER 5 ( 1€x +108) | 1 ((_z I

B B TTO T T [ []] X=6 =-3 | [
1.4¢.2 sz "ol G} i NN '""_—,f

163 & 00 Oxti108) - K txiZ [ 5 CCEETT
@ x°>~9gx+ 108 =5‘lhc = 2ex £ 109 &= X°= 63x~ +-21éx -0
<=>x(>< — 63X +216) =0 ; x4=ok%%(63£{_3_~4 )
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